Sy =27

X+5= |

a) log34.5=

d) In235=

Solve the equation

a) logx=3
)
o =X
)(-;,WDD

Use a calculator to evaluate the logarithmic expression if it
is defined and check your result by evaluating the
corresponding exponential expression

b) log 0.43 = c) log(-3) =
e) In0.48= f) In(-5) =
b) bg,x=5
9 =X
Wie B
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Multiplication A) log@x) B) h}(é]
X
laf)bryzlobb}(f loj 8-—[—10:))( j s--_/e <
los Y ! i

ot T

D:VI' hYs)

\ .SX_: C) ]Dgz(" = Stwb?-x

%o 1

lob b)("‘ lu:?jh\f :
"W D) log(8x*y")

Paw s CE"-(“""{-':)

Assuming x and y are positive, use properties of logarithms
to write the expression as a sum or difference of
logarithms or multiples of logarithms

tob 3+ lobxt + lo_by 1
log 8 215X Fleyy

(ees)™
E) In[ 'r+5} = x)(%

l/ y
Dn l'"j"‘xa

\ 2
3 0 (s) - $4.x
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Assuming x, y and z are positive, use properties of
logarithms to write the expression as a single logarithm

A) logx+logb B) Inx—In6
los 6 fh%

) ilogx D) 6logx—%logy
103*"'3 lwbx"—lﬁs‘*!ji
1oy T%° Lo Xgﬁa

E) Slog(x*y)+3log(y*2)
[05@1')/5; b o (Y"e_:j>
log (x‘y)s( 1?:):,
leg X0y e =2 log X"y
F) Inx*—2n(xy)
bax” - fn (xy) o7
In y‘»; An y*

3

8|Pag



